MANATEE COUNTY GOVERNMENT INTENT TO AWARD

SUBJECT	Force Main 15D Rehabilitation	DATE POSTED	MC 10/10/14/SE DS N/A CC 10/10/14/SE					
PURCHASING REPRESENTATIVE	Chris Daley, CPPO CPPB 749-3048	DATE CONTRACT SHALL BE AWARDED	Seven days after the date Posted					
DEPARTMENT	Public Works/ Brian Bates	CONSEQUENCES IF DEFERRED	Delay in project					
SOLICITATION	IFB #14-3048CD	AUTHORIZED BY DATE	Melissa Wendel, CPPO October D 2014/					
	NOTICE OF IN	ITENT TO AWARD	INDV :					
	vitation for Bid # 14-3048CD,		, to the lowest, responsive and calendar days).					
	ENABLING/REGU	JLATING AUTHORITY						
Federal/State law(s), admini	istrative ruling(s), Manatee County C	Comp Plan/Land Development Code, or	dinances, resolutions, policy.					
	Manatee Cou	inty Code of Laws						
	BACKGROU	ND/DISCUSSION						
fully functional system. A portion of the force main will be installed by jack and bore underneath the exisiting intersection, to include the restoration of all pavement and concrete that will be disturbed due to construction of the force main. Formal competitive sealed bid procedures were followed resulting in a total of four (4) bidders submitting a sealed bid for consideration: Manatee County Subterrain Technologies, Inc. Gator Grading & Paving Westra Construction Corp. \$878,405.00								
Orange County Stage Door II, Inc. \$420,783.00 On October 9, 2014 an email was received from the Public Works Department recommending award to Subterrain Technologies, Inc. of Palmetto, FL for a total bid amount of \$407,555.06 with a 90 calendar completion time.								
 Funding for this project is provided by Utility Rates in the budget account keys 4046022381-534000/6022381-0004 (Force Main 15D Rehabilitation). 								
ATTACHMENTS (List in order of attached)	Department Recommendation Tabulation	FUNDING SOU (Acct Number & N	I I FIING VERITIED					
COST	\$407,55506	AMT/FREQ OF RECURRING CO (Attach Fiscal Impact Staten						



Jeff

Re: Fw: DEPARTMENTAL RECOMENDATION FOR AWARD: IFB #14-3048CD- Force Main 15D Rehabilitation

Jeff Streitmatter to: Chris Daley
Cc: Brian Bates

10/10/2014 11:03 AM

Thanks Chris...Brian is out sick today but I am sure he can have everything to you on Monday.

We are in agreement with recommendation to award.

Thanks

Jeff Streitmatter III, P.E.

Cell 941-350-7967

Manatee County Public Works
Project Management Division Manager

1022 26th Avenue East Bradenton, FL 34208 Ph 941-708-7450 Ext. 7335

Chris Daley Brian- It would be nice if he signed the Bid tab- b... 10/10/2014 09:06:24 AM Brian Bates Chris, Let me know if you want the bid tab signe... 10/09/2014 11:39:34 AM

TABULATION IFB #14-3048CD- FORCE MAIN 15D REHABILITATION

					Subterrain Technologies, Inc.		Stage Door II, Inc.		Gator Grading & Paving		Westra Construction Corp.	
Y				909 10th St W		3050 Dee Street		2704 105th St E		1263 12th Avenue E		
			Palmetto, FL 34221		Apopka, FL 32703		Palmetto, FL 34221		Palmetto, FL 34221			
ITEM NO.	DESCRIPTION	UNITS	QTY.	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	
1	Mobilization	LS	1	\$24,948.00	\$24,948.00	\$60,000.00	\$60,000.00	\$37,785.00	\$37,785.00	\$75,000.00	\$75,000.00	
2	Maintenance of Traffic	LS	1	\$6,174.00	\$6,174.00	\$25,000.00	\$25,000.00	\$15,165.00	\$15,165.00	\$65,000.00	\$65,000.00	
3	Erosion and Sediment Control	LS	1	\$1,575.00	\$1,575.00	\$5,000.00	\$5,000.00	\$770.00	\$770.00	\$10,000.00	\$10,000.00	
4	20" PVC DR 21 Force Main	LF	340	\$116.42	\$39,582.80	\$120.00	\$40,800.00	\$167.00	\$56,780.00	\$550.00	\$187,000.00	
5	20" Pipe Restraints	EA	26	\$1,209.60	\$31,449.60	\$300.00	\$7,800.00	\$890.00	\$23,140.00	\$1,600.00	\$41,600.00	
6	Ductile Iron Fittings	EA	4	\$3,087.00	\$12,348.00	\$300.00	\$1,200.00	\$2,500.00	\$10,000.00	\$5,500.00	\$22,000.00	
7	5" Sewer Service Lateral and Cleanouts	LF	40	\$56.26	\$2,250.40	\$25.00	\$1,000.00	\$168.00	\$6,720.00	\$60.00	\$2,400.00	
8	Grout Fill Abandoned 16" Forcemain and Manhole	CY	30	\$390.60	\$11,718.00	\$200.00	\$6,000.00	\$423.00	\$12,690.00	\$475.00	\$14,250.00	
9	Dog House Concrete Manhole	EA	1	\$15,750.00	\$15,750.00	\$5,000.00	\$5,000.00	\$20,109.00	\$20,109.00	\$75,000.00	\$75,000.00	
10	Jack and Bore with 36" Steel Casing	LF	170	\$750.96	\$127,663.20	\$800.00	\$136,000.00	\$899.00	\$152,830.00	\$950.00	\$161,500.00	
11	Core Manhole for Proposed Pipe Connection	EA	1	\$6,174.00	\$6,174.00	\$2,500.00	\$2,500.00	\$993.00	\$993.00	\$22,000.00	\$22,000.00	
12	Concrete Driveway/ Sidewalk Restoration	SY	340	\$99.54	\$33,843.60	\$42.00	\$14,280.00	\$71.00	\$24,140.00	\$75.00	\$25,500.00	
13	Pavement Repair and Road Restoration (Base & Resurface)	SY	100	\$52.39	\$5,239.00	\$350.00	\$35,000.00	\$89.00	\$8,900.00	\$130.00	\$13,000.00	
14	Pavement Repair and Road Restoration (Mill & Resurface)	SY	250	\$45.36	\$11,340.00	\$110.00	\$27,500.00	\$55.00	\$13,750.00	\$120.00	\$30,000.00	
15	Sodding	SY	50	\$5.10	\$255.00	\$5.00	\$250.00	\$35.00	\$1,750.00	\$6.00	\$300.00	
16	Tree and Shrub Replacement	EA	4	\$409.50	\$1,638.00	\$1,000.00	\$4,000.00	\$2,542.00	\$10,168.00	\$4,000.00	\$16,000.00	
17	Curb and Gutter Replacement	LF	40	\$302.40	\$12,096.00	\$30.00	\$1,200.00	\$80.00	\$3,200.00	\$75.00	\$3,000.00	
18	Force Main Shutdown	LS	1	\$26,460.00	\$26,460.00	\$10,000.00	\$10,000.00	\$12,280.00	\$12,280.00	\$35,000.00	\$35,000.00	
	TOTAL BASE BID - Based on Completion Time of 90 Calendar Days				\$370,504.60		\$382,530.00		\$411,170.00		\$798,550.00	

TABULATION IFB #14-3048CD- FORCE MAIN 15D REHABILITATION

				Inc.				Gator Grading & Paving 2704 105th St E		Westra Construction Corp. 1263 12th Avenue E	
				Palmetto, FL 34221		Apopka, FL 32703		Palmetto, FL 34221		Palmetto, FL 34221	
ITEM NO.	DESCRIPTION	UNITS	QTY.	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE
11 10	CONTRACT CONTINGENCY WORK (USED ONLY WITH COUNTY APPROVAL)		10% OF	TOTAL BASE BID	\$37,050.46		\$38,253.00		\$41,117.00		\$79,855.00
	TOTAL OFFER with Contract Contingency - Based on Completion Time of <u>90</u> Calendar Days				\$407,555.06		\$420,783.00		\$452,287.00		\$878,405.00
	Acknowledge Addendum #1				Yes		Yes		Yes		Yes
	Bid Bond				Yes		Yes		Yes		Yes

Keyed By:	City	10/8/2014
	Chris Daley-CPPO, CPPB, Contract Specials t	DATE
Checked		
and		
Reviewed		
By:		
	Wayne White, PE- Kimley-Horn and Associates	DATE
Checked		
and		
Reviewed		
By:		
	Brian Bates, PE- Project Manager	DATE